SUMPOEBIEIANINTOY I A

SE“"’B’D Sl:M:E EPD R I A AT TR B AR
.. S4FNBIBES (EPD) ST X A 1-14-8
VERIFIED KANDA SQUARE GATE

E#H&EFS © JR-AI-25095E https://ecoleaf-label jp

FUJHHILM

Value from Innovation

BT 7ML EVRZ A/R-Vav%Aa
FUJIFILM Business Innovation Corp.

FUJIFILM

A3 B/ UOEEH

i A3 Monochrome Multifunction Printer

— Apeos 2561 (Model-CPS)
; (for MY)
. )

Apeos. Apeos O, ApeosPro. ApeosPort . LU ApeosPrint (&, ELTAIVAES RIS IR= AR OB REIEF I (EFIETY,

HEHAL BHRES JR-AI-25095E
051 A5k EAPCRES  PA-590000-Al-08
PCR# ERA L 2R
HEMRERRE NS 20254108108
[ JS#d) mESS]) RILE1EE 2025498 16H
OFEMEIE QEE Q@B @FEF - REEA YATLFRREA R
OFEZE- VY1) RIEES 2025-FB-EL-030

HBEAIEZNEARG 203098158
PCRLE1-DETE
ZEBZ 2023%F 98 1H

HE0RN, TELKR-FT
B : Apeos 2561 (Model-CPS)

FWEHEE

FEMAKR B/I0EEHE EPAR)
ENRIRE : /70 25ppm (A4 LEF)
BRAAHETI4X A3, 11x17"
TUY/AE-/AF vy

il E EN R 88 /ADF (R e B Bh5A H)

ZBR g &
(B —MRAL IR A Y AT H VAR B )
E=ERE BE ST
S EBIREES

ISO14025(CfE2T=ARE E RUT -5 DI LR EE
ORER WAL R

AT LRI ER IR EFNORIEDS AR, YATLRAETREEED
HBIERH,

SELXIMIWLESRRA I R—> 3 ks

EEhAXA R EHFSV6T B1E
https://www.fujifilm.com/fb/

Z5&ES ¢ JR-AlI-25095E



SuMPO

.. VERIFIED

EiRES JR-AI-25095E

PAPPE% -2 St Es

SuMPO EPD

F1TNRIREE (EPD)

SUMPORIESANIL OIS A
— A FE A AT T IR S
HRBTFREXAHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

BAEEERR | SERE | B E?ﬁ';f% BERERRE
S[UREE - &5 kg-CO2eq 4.43E+02 1.63E+01 3.44E+01 7.08E+01 1.04E+02
TV BIE kg-CFC-11eq |  3.48E-05 2.65E-08 2.89E-08 1.14E-06 2.10E-08
EREL kg-PO.3-eq 1.29E-02 2.55E-04 2.17E-04 1.79E-03 1.11E-04
2[4 kg-SOzeq 1.36E+00 1.16E-01 5.12E-02 3.30E-01 1.07E-01
HABEAFII VL kg-CzHseq 8.49E-03 1.13E-05 3.47E-04 6.36E-04 7.99E-04
FEYMEIRE - 159 kg-Sbeq 7.67E-01 6.43E-05 1.54E-05 5.34E-03 2.01E-05

—REROERICET3HER

F1TH1IIWAIRY I S IRESEB R

BAEEERR | SERE | RBRRE E?ﬁ';f% BEERRE
BEAJfE—REIR - IRIF- (RPRp MJ 1.06E+03 147E+02 1.12E+01 3.57E+02 4.52E+01
BETRE—RER - IRVE-2HME (RPR) M) 1.53E+01 2.42E-03 2.92E+02 6.45E+02 8.60E-03
FEFEATEE—RER - TRIF- (NRPRp) M) 7.59E+03 5.87E+02 4.09E+02 1.74E+03 5.24E+02
HEEETH—RAE - TRVF-SHHE (NRPR,) M) 1.36E+03 1.86E-01 2.88E+00 6.25E+01 1.14E-01
RKDHEEE m? 3.35E+00 1.04E-02 3.07E+01 6.79E+01 8.09E-03

- R EENRIMER (L. 90,000 TT,

1/4x 25 (Y3a7/B)x 12 (1) x5 (B) x4 (@) x 12 (5 B) x 5 (£F) =

90,000%%

HERRICETZEMER

NL-YT7EEAFRELTEELELE,
EEHEEPAR)DEEYFUATEELTVET,
- OB EEARRIESERTT,
{EF SRR LB AR AR S ENE A,
(EABOEA R BRI -AT-T0ITLVer3 28 £ (A >TRELETECEZ TICEELE LR,

ZOOIRIEEEIFER

HRS SRR SRS
#El-ME (ERBS) Bfip CAS No.
L@ 37 kg ;
sus 0.34 kg -
TIVIZOL 0.53 kg
ZofttERE 48 kg ERALEZRT-YDEZXSH
T32FvY 33 kg FEAIS, LCIT -5 N-RIDEA Ver3.4, SUMPOREININFOYS LEFZT -
I 035 kg Ver.1.16EfEALTVEY,
A 14 kg
FEREIRREM 0.91 kg -
ZIER R 3.6 kg
Z0ftE 2.2 kg

O -YHEDHEIL. PCREKVETE - EEREESBLTULE,

OLLEIOVTE, BE-EERECHEINE

EHEBELIBHEBICLATR

(BEHURL : https://ecoleaf-label.jp/regulation/)

HENE A,



